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1.लागत लेखाांकन का क्या अर्थ है लागत लेखाांकन के उदे्दश्य कार्थ और लागत लेखाांकन के लाभ ां क  बताइए 

ऊपरीव्यर् ां का आवांटन एवां अभभभाजन से क्या आशर् है उपररव्यर् ां के अभभभाजन के आधार क  सांके्षप में बताइरे् 
 
What do you mean by allocation and apportionment  of overheads? Explain in brief the basis of 
apportionment. 
  
Or 
1- fdlh ,d en dk okf"kZd ekax 6]400 bdkbZ;ka gS] mldh izfr bdkbZ ykxr 6 :i;s rFkk lkexzh j[k j[kko dh ykxr 25% 

okf"kZd gSA ;fn ,d vkns’k nsus dh ykxr 75 :i;s gks rks fuEu dk fu/kkZj.k dhft,     

The annual demand for an item is 6,400 units. The unit cost is Rs. 6 and inventory carrying cost is 25% 

per annum If the cost of one order is Rs. 75, determine  

¼v½ ferO;;h vkns’k ek=k ¼c½ izfro"kZ vkns’kksa dh la[;k 

a) Economic order quantity and (b) Number of orders per year 

 
 
 
 
2- fuEu fooj.k ls ykxr i= rS;kj dhft, tks izfr fcfdzr bdkbZ ykxr o ykHk crk, %  

From the following particulars prepare a cost sheet showing cost and profit per article sold 

 

Lkkexzh  Raw materials Rs.20000 

izR;{k etnwjh  Direct wages Rs.12000 

dk;kZy; O;; :dkj[kkuk ykxr dk 20% Office expenses: 20% of Factory cost 

e’khu us dk;Z fd;k ¼?k.Vksa esa½  9500 Machine worked in hours 9500 

e’khu ?k.Vk nj 2 :i;s Machine hour rate Rs.2 

fodz; mifjO;; 50 iSls izfr bdkbZ (Selling overheads) 50 Paise per unit 

mRiknu  20]000  bdkbZ;ka Production 20000 units 

csph x;h bdkbZ;k o nj   18]000 @:i;s 5 izfr 

bdkbZ 

Unit sold and rate 18000@Rs.5  per unit 

 
Or 

 

 

 

 



 

 

fuEu lwpukvksa ls ,d ekg dh vof/k dks vk/kkj ekurs gq, e’khu ?k.Vk nj dh 

x.kuk dhft, % 

From the following information calculate machine hour rate taking 

one month as base period 

¼1½ ,d ekg ds dk;Z’khy ?k.Vs              (Working 

hours for 

one month) 

200 

¼2½ e’khu dh ykxrA (Cost of the 

machine) 

Rs. 120000  

¼3½ vUr esa vo’ks"k ewY; (Scrape 

value at the 

end) 

Rs. 20000 

¼4½ e’khu dk vuqekfur thoudky (Working 

life of the 

machine) 

10000 

hours 

¼5½ ,d ekg ds ejEer o vuqj{k.k O;; (Repairs 

and 

maintenance 

of one 

month) 

Rs. 400 

¼6½ ,d ekg ds LFkk;h O;; (Standing 

charges of 

one month) 

Rs. 800 

¼7½ izfr ?k.Vk iz;qDr 'kfDr  (Power used 

per hour) 

5units 

¼8½ izfr bdkbZ 'kfDr nj (Per hour 

power rate) 

Rs. 4 

3- o"kZ ds vUr esa ,d Bsdk [kkrk fuxZfer lkexzh] Je mifjO;;ksa rFkk fuxZfer 

Iyk.V dh ykxr ls MsfcV fd;k gqvk gS rFkk ;g [kkrk LFky ij lkexzh 2]000 :i;s 

rFkk LFky ij Iyk.V tks fd 20% ºkl pktZ djus ds i'pkr 8]000 :i;s ij 

iquewZY;kafdr fd;k x;k gS] dzsfMV fd;k gqvk gSA    

At the end of a year, a contract account stands debited with the cost 

of materials issued, labour, 

overheads and plant issued, and it stands credited with materials at 

site Rs. 2,000 and plant at site revalued at Rs. 8,000 after charging 

depreciations at 20%.  

bl Bsds dh 'kq) ykxr 30]000 :i;s gSA 

The net cost of the contract is Rs. 30,000. 
Bsdk [kkrs dks MsfcV fd;s x;s lkexzh] Je o mifjO;; 3%2%1 ds vuqikr esa gSA 

The materials, labour and overheads debited to the contract account, 

are in the ratio of 3:2:1 
Bsdk ewY; 50]000 :i;s gSA 

The contract price is Rs. 50,000. 



o"kZ d s vUr ls ,d ekg iwoZ Bsdknkrk ds f’kYidkj us bl Bsdk dk 4@5 Hkkx iw.kZ 

fd;k gqvk izekf.kr dj fn;k gS rFkk izekf.kr dk;Z ewY; dk 80% udn izkIr gks 

x;k gSA ys[kkdkj us lwfpr fd;k gsS fd bl Bsds ij jksdM+ izkIr vk/kkj ij ykHk dk 

2@3 Hkkx tksa ykHk&gkfu [kkrs dks dzsfMV fd;k x;k] 8]000 :i;s gSA 

vizekf.kr dk;Z dh ykxr fn[kkrs gq, mi;ZqDr lwpuk ls Bsdk [kkrk rS;kj dhft,A 

 

4/5 of the contract has been certified by the contracter's architect as 

completed a month before the end of the year and 80% of the 

certified work value has been received in cash. The accountant 

informs that 2/3 of the profit on cash basis credited to profit and 

loss account on this contract is Rs. 8,000. 

Prepare contract account showing the cost of uncertified work from 

the above information. 

 

4.भवत्तीर् लेख ां तर्ा लागत लेख ां के भमलान की आवश्यकता क्य ां ह ती है इन द न ां में अांतर का के प्रमुख कारण क्या 

है बताइए 
Why there is a need to reconcile the cost accounts Profits  with financial accounts indicate the 
possible sources  or reasons of difference between cost accounting  profit in financial 
accounting. 
 
Or 
On the basis of the following informations prepare a reconciliation statement 

 Rs 

¼1½ ykxr ys[kksa ds vuqlkj gkfu  Loss as per cost accounts  15000 

¼2½ dkj[kkuk mifjO;; ykxr ys[kks esa vf/kd olwy fd;s x;s  

Over recovery of factory overheads in cost accounts 
3000 

¼3½ dk;kZy; mifjO;; ykxr ys[kkas esa de olwy fd;s x;s  

(Under recovery of office overheads in cost accounts 
2000 

¼4½ v’kks/; _.k ds fy;s lap; (Provision for bad debts) 800 

¼5½ fofu;ksxks ij izkIr ykHk  (Profit received on investment) 600 

¼6½ cSSad C;kt dszfMV  (Bank interest credit) 500 

¼7½ vk;dj ds fy;s izko/kku (Provision for income tax) 2000 

¼8½ foRrh; iqLrdkas esa vfrfjDr ºkl 

 
(Excess depreciation written in financial books) 700 

5-    ,d fuekZ.kh laLFkku ftlus lhekUr ykxr fof/k viukbZ gqbZ gS] fuEufyf[kr lwpuk, iznku djrk gS %   
   

izfr bdkbZ fodz; ewY; (Selling price per unit) Rs.24 

izfr bdkbZ ifjorZu’khy ykxr  (Variable cost per unit) Rs.16 

ewy fLFkj ykxr (Total fixed cost) Rs.2,40,000 

Kkr dhft, % Calculate  

¼v½ ykHk & ek=k vuqikr (Profit volume ratio)  

¼c½ lefoPNsn fodz; 

 
(Break even sales)   

¼l½ 7]80]000 :i;s ds fodz; ij ykHk (Profit on sale of Rs. 780000  

¼n½ 90]000 :i;s ykHk dekus ds fy;s fodz; (Sales to earn a profit of Rs. 90,000).  

vFkok OR  



,d fuekZ.kh laLFkku ftlus izeki ykxr fof/k viukbZ gqbZ gS] fuEufyf[kr lwpuk, iznku djrk gS % 

A manufacturing concern which has adopted standard costing furnished the following 

information 

Ekkud %  Standard: 

80 fd-xzk- fufeZr eky ds fy;s lkexzh -100 fd-xzk- Material for 80 kg, finished  Products-100 kgs 

lkexzh dk ewY; 1-20 :i;s izfr fd- xzk- Price of materials   Rs.1.2 perkg 

okLrfod % Actual:  
mRiknu     2]40]000 fd-xzk-   Output  2,40,000 kgs 

lkexzh iz;qDr   3]15]000 fd-xzk- Material used  3,15,000 kgs 

lkexzh dh ykxr   3]46]500 :i;s Cost of materials 3,46,500 Rs. 

Kkr dhft, % Calculate :  

¼v½ lkexzh mi;ksx fopj.k (a) Material Usage Variance 

¼c½ lkexzh ewY; fopj.k (b) Material Price Variance 

¼l½ lkexzh ykxr fopj.k (c) Material Cost Variance. 

 


